

Staff Numbers by Age Group, Staff Group and Faculty/Service Area as on 01/10/2023

Academics

		25-34	%	35-44	%	45-54	%	55-64	%	65 or over	%	Total Employees
UCL BEAMS	Faculty of Engineering Science	49	9.88%	193	38.91%	136	27.42%	85	17.14%	33	6.65%	496
	Faculty of Maths & Physical Sciences	30	8.50%	118	33.43%	125	35.41%	58	16.43%	22	6.23%	353
	Faculty of the Built Environment	18	6.10%	99	33.56%	108	36.61%	43	14.58%	27	9.15%	295
	Total	97	8.48%	410	35.84%	369	32.26%	186	16.26%	82	7.17%	1144
UCL SLASH	Faculty of Arts & Humanities	14	5.17%	78	28.78%	81	29.89%	77	28.41%	21	7.75%	271
	Faculty of Laws	12	14.29%	25	29.76%	25	29.76%	12	14.29%	10	11.90%	84
	Faculty of S&HS	33	9.65%	117	34.21%	96	28.07%	65	19.01%	31	9.06%	342
	Total	59	8.46%	220	31.56%	202	28.98%	154	22.09%	62	8.90%	697
			1									
School of Life & Medical Sciences	Faculty of Brain Sciences	8	2.37%	72	21.30%	117	34.62%	108	31.95%	33	9.76%	338
	Faculty of Life Sciences	6	2.96%	42	20.69%	73	35.96%	52	25.62%	30	14.78%	203
	Faculty of Medical Sciences	6	2.32%	58	22.39%	88	33.98%	75	28.96%	32	12.36%	259
	Faculty of Population Health Sciences	9	3.01%	62	20.74%	88	29.43%	109	36.45%	31	10.37%	299
	Total	29	2.64%	234	21.29%	366	33.30%	344	31.30%	126	11.46%	1099
School of Education	UCL Institute of Education	20	5.28%	96	25.33%	129	34.04%	91	24.01%	43	11.35%	379
	Total	20	5.28%	96	25.33%	129	34.04%	91	24.01%	43	11.35%	379
			1	1		1				1		
Vice-President (Operations)	Vice-President (Operations)			1	100.00%							1
	Total			1	100.00%							1
President and Provost	Vice-Provost (Education and Student Experience)					1	33.33%	2	66.67%			3
	Vice-Provost (Research, Innovation and Global Engagement)							1	33.33%	2	66.67%	3
	VP: Health							1	100.00%			1
	Total					1	14.29%	4	57.14%	2	28.57%	7
	ALL UCL	205	6.16%	961	28.88%	1067	32.07%	779	23.41%	315	9.47%	3327
	ALE OUL	∠05	0.10%	301	20.00%	1007	32.07%	119	23.41%	315	J.41%	3321

1



Workforce Reporting & Analytics

Researchers

		16-24	%	25-34	%	35-44	%	45-54	%	55-64	%	65 or over	%	Total Employees
UCL BEAMS	Faculty of Engineering Science	3	0.65%	274	59.18%	143	30.89%	21	4.54%	16	3.46%	6	1.30%	463
	Faculty of Maths & Physical Sciences			170	55.37%	91	29.64%	20	6.51%	18	5.86%	8	2.61%	307
	Faculty of the Built Environment	1	0.67%	55	36.67%	62	41.33%	16	10.67%	11	7.33%	5	3.33%	150
	Total	4	0.43%	499	54.24%	296	32.17%	57	6.20%	45	4.89%	19	2.07%	920
UCL SLASH	Faculty of Arts & Humanities			17	38.64%	15	34.09%	8	18.18%	2	4.55%	2	4.55%	44
OCE OFFICIAL	Faculty of Laws	1	14.29%	1	14.29%	3	42.86%	1	14.29%	-	4.0070	1	14.29%	7
	Faculty of S&HS	2	1.72%	41	35.34%	50	43.10%	16	13.79%	6	5.17%	1	0.86%	116
	Total	3	1.80%	59	35.33%	68	40.72%	25	14.97%	8	4.79%	4	2.40%	167
School of Life & Medical Sciences	Faculty of Brain Sciences	45	5.25%	394	45.97%	298	34.77%	75	8.75%	32	3.73%	13	1.52%	857
	Faculty of Life Sciences	12	3.34%	161	44.85%	143	39.83%	31	8.64%	7	1.95%	5	1.39%	359
	Faculty of Medical Sciences	5	1.13%	213	47.97%	166	37.39%	39	8.78%	15	3.38%	6	1.35%	444
	Faculty of Population Health Sciences	17	2.54%	274	40.96%	235	35.13%	102	15.25%	26	3.89%	15	2.24%	669
	Total	79	3.39%	1042	44.74%	842	36.15%	247	10.61%	80	3.43%	39	1.67%	2329
School of Education	UCL Institute of Education	2	1.63%	37	30.08%	45	36.59%	26	21.14%	8	6.50%	5	4.07%	123
	Total	2	1.63%	37	30.08%	45	36.59%	26	21.14%	8	6.50%	5	4.07%	123
													1	
President and Provost	Vice-Provost (Research, Innovation and Global Engagement)									1	100.00%			1
	VP: Health			3	60.00%	1	20.00%			1	20.00%			5
	Total			3	50.00%	1	16.67%			2	33.33%			6
	ALL UCL	88	2.48%	1640	46.26%	1252	35.32%	355	10.01%	143	4.03%	67	1.89%	3545



Workforce Reporting & Analytics

Teachers & TAs

		16-24	%	25-34	%	35-44	%	45-54	%	55-64	%	65 or over	%	Total Employees
UCL BEAMS	Faculty of Engineering Science	65	8.76%	470	63.34%	121	16.31%	45	6.06%	33	4.45%	8	1.08%	742
	Faculty of Maths & Physical Sciences	80	16.99%	310	65.82%	50	10.62%	13	2.76%	11	2.34%	7	1.49%	471
	Faculty of the Built Environment	26	4.95%	228	43.43%	171	32.57%	68	12.95%	24	4.57%	8	1.52%	525
	То	otal 171	9.84%	1008	58.00%	342	19.68%	126	7.25%	68	3.91%	23	1.32%	1738
UCL SLASH	Faculty of Arts & Humanities	9	3.18%	118	41.70%	74	26.15%	46	16.25%	25	8.83%	11	3.89%	283
	Faculty of Laws		0.10%	17	44.74%	7	18.42%	9	23.68%	3	7.89%	2	5.26%	38
	Faculty of S&HS	16	4.35%	226	61.41%	84	22.83%	29	7.88%	10	2.72%	3	0.82%	368
		otal 25	3.63%	361	52.39%	165	23.95%	84	12.19%	38	5.52%	16	2.32%	689
School of Life & Medical Sciences	Faculty of Brain Sciences	2	1.60%	50	40.00%	41	32.80%	23	18.40%	7	5.60%	2	1.60%	125
	Faculty of Life Sciences	18	7.03%	177	69.14%	32	12.50%	17	6.64%	11	4.30%	1	0.39%	256
	Faculty of Medical Sciences			23	19.49%	38	32.20%	33	27.97%	17	14.41%	7	5.93%	118
	Faculty of Population Health Sciences	4	3.03%	65	49.24%	38	28.79%	17	12.88%	8	6.06%			132
	Тс	otal 24	3.80%	315	49.92%	149	23.61%	90	14.26%	43	6.81%	10	1.58%	631
School of Education	UCL Institute of Education	10	1.66%	147	24.46%	164	27.29%	137	22.80%	109	18.14%	34	5.66%	601
	To	otal 10	1.66%	147	24.46%	164	27.29%	137	22.80%	109	18.14%	34	5.66%	601
Vice-President (Operations)	Vice-President (Operations)			36	66.67%	9	16.67%	8	14.81%			1	1.85%	54
vice-riesident (Operations)	To	otal		36	66.67%	9	16.67%	8	14.81%			1	1.85%	54
			I				-1	I			-1	I.	Į.	
President and Provost	Vice-Provost (Education and Student Experience)					2	28.57%	4	57.14%	1	14.29%			7
	Vice-Provost (Faculties)					1	100.00%							1
	To	otal				3	37.50%	4	50.00%	1	12.50%			8
	ALL U	CL 230	6.18%	1867	50.17%	832	22.36%	449	12.07%	259	6.96%	84	2.26%	3721



Workforce Reporting & Analytics

NHS Related

		25-34	%	35-44	%	45-54	%	55-64	%	65 or over	%	Total Employees
School of Life & Medical Sciences	Faculty of Brain Sciences	2	16.67%	4	33.33%	5	41.67%	1	8.33%			12
	Faculty of Life Sciences					1	100.00%					1
	Faculty of Medical Sciences	3	13.64%	8	36.36%	9	40.91%	1	4.55%	1	4.55%	22
	Faculty of Population Health Sciences			1	50.00%			1	50.00%			2
	Total	5	13.51%	13	35.14%	15	40.54%	3	8.11%	1	2.70%	37
Vice-President (Operations)	Vice-President (Operations)	1	12.50%	4	50.00%	1	12.50%	2	25.00%			8
	Total	1	12.50%	4	50.00%	1	12.50%	2	25.00%			8
	ALL UCL	6	13.33%	17	37.78%	16	35.56%	5	11.11%	1	2.22%	45



Workforce Reporting & Analytics

Administration/Managerial Support

		16-24	%	25-34	%	35-44	%	45-54	%	55-64	%	65 or over	%	Total Employees
UCL BEAMS	Faculty of Engineering Science	7	2.07%	93	27.51%	125	36.98%	70	20.71%	40	11.83%	3	0.89%	338
	Faculty of Maths & Physical Sciences	2	1.16%	41	23.70%	53	30.64%	48	27.75%	23	13.29%	6	3.47%	173
	Faculty of the Built Environment	2	0.99%	77	37.93%	66	32.51%	43	21.18%	15	7.39%			203
	Total	11	1.54%	211	29.55%	244	34.17%	161	22.55%	78	10.92%	9	1.26%	714
								1						
UCL SLASH	Faculty of Arts & Humanities	1	1.11%	26	28.89%	33	36.67%	20	22.22%	9	10.00%	1	1.11%	90
	Faculty of Laws			15	32.61%	19	41.30%	8	17.39%	3	6.52%	1	2.17%	46
	Faculty of S&HS	2	1.18%	44	25.88%	53	31.18%	49	28.82%	17	10.00%	5	2.94%	170
	Total	3	0.98%	85	27.78%	105	34.31%	77	25.16%	29	9.48%	7	2.29%	306
					1	ı	1	1				1	1	
School of Life & Medical Sciences	Faculty of Brain Sciences	10	3.05%	73	22.26%	110	33.54%	73	22.26%	51	15.55%	11	3.35%	328
	Faculty of Life Sciences	5	3.60%	26	18.71%	37	26.62%	37	26.62%	32	23.02%	2	1.44%	139
	Faculty of Medical Sciences	13	3.94%	103	31.21%	111	33.64%	60	18.18%	36	10.91%	7	2.12%	330
	Faculty of Population Health Sciences	20	4.16%	165	34.30%	150	31.19%	82	17.05%	53	11.02%	11	2.29%	481
	Total	48	3.76%	367	28.72%	408	31.92%	252	19.72%	172	13.46%	31	2.43%	1278
					1	Т		Т				Г		1
School of Education	UCL Institute of Education	7	2.21%	69	21.77%	92	29.02%	89	28.08%	49	15.46%	11	3.47%	317
	Total	7	2.21%	69	21.77%	92	29.02%	89	28.08%	49	15.46%	11	3.47%	317
Mar Bureldout (Ourselfour)	Was Bushlant (Occupions)	74	0.000/	500	00.70%	540	00.000/	444	00.058/	000	44.000/	0.7	4.500/	4704
Vice-President (Operations)	Vice-President (Operations)	71	3.99%	529	29.70%	540	30.32%	414	23.25%	200	11.23%	27	1.52%	1781
	Total	71	3.99%	529	29.70%	540	30.32%	414	23.25%	200	11.23%	27	1.52%	1781
President and Provost	President and Provost	3	1.13%	65	24.44%	93	34.96%	72	27.07%	30	11.28%	3	1.13%	266
Trockett and Frovos	Vice-President (Advancement)	1	1.54%	24	36.92%	24	36.92%	16	24.62%		11.2070		111070	65
	Vice-President (External Engagement)	4	4.76%	32	38.10%	26	30.95%	20	23.81%	2	2.38%			84
	Vice-President (Strategy)			4	19.05%	10	47.62%	6	28.57%	1	4.76%			21
	Vice-Provost (Education and Student Experience)	3	3.53%	17	20.00%	31	36.47%	19	22.35%	14	16.47%	1	1.18%	85
	Vice-Provost (Faculties)	1	5.00%	4	20.00%	7	35.00%	3	15.00%	5	25.00%			20
	Vice-Provost (Research, Innovation and Global Engagement)	11	2.06%	98	18.35%	187	35.02%	139	26.03%	85	15.92%	14	2.62%	534
				5	10.20%	20	40.82%	19	38.78%	5	10.20%			49
	VP: Health													
	VP: Health Total	23	2.05%	249	22.15%	398	35.41%	294	26.16%	142	12.63%	18	1.60%	1124
		23	2.05%	249	22.15%	398	35.41%	294	26.16%	142	12.63%	18	1.60%	



Workforce Reporting & Analytics

Manual and Craft

		16-24	%	25-34	%	35-44	%	45-54	%	55-64	%	65 or over	%	Total Employees
UCL BEAMS	Faculty of Maths & Physical Sciences					1	33.33%			1	33.33%	1	33.33%	3
	Faculty of the Built Environment					1	100.00%							1
	Total					2	50.00%			1	25.00%	1	25.00%	4
UCL SLASH	Faculty of S&HS							1	100.00%					1
	Total							1	100.00%					1
				•			1		T.		"		l .	
School of Life & Medical Sciences	Faculty of Brain Sciences					1	25.00%	1	25.00%	2	50.00%			4
	Faculty of Life Sciences							2	50.00%	2	50.00%			4
	Faculty of Medical Sciences							1	100.00%					1
	Total					1	11.11%	4	44.44%	4	44.44%			9
Vice-President (Operations)	Vice-President (Operations)	2	5.56%	3	8.33%	6	16.67%	10	27.78%	12	33.33%	3	8.33%	36
	Total	2	5.56%	3	8.33%	6	16.67%	10	27.78%	12	33.33%	3	8.33%	36
				Т			1	I				I	1	T
	ALL UCL	2	4.00%	3	6.00%	9	18.00%	15	30.00%	17	34.00%	4	8.00%	50



Workforce Reporting & Analytics

Technicians

		16-24	%	25-34	%	35-44	%	45-54	%	55-64	%	65 or over	%	Total Employee
UCL BEAMS	Faculty of Engineering Science	7	6.67%	34	32.38%	26	24.76%	21	20.00%	11	10.48%	6	5.71%	105
	Faculty of Maths & Physical Sciences	1	1.02%	21	21.43%	24	24.49%	21	21.43%	26	26.53%	5	5.10%	98
	Faculty of the Built Environment	2	8.70%	14	60.87%	4	17.39%	1	4.35%	1	4.35%	1	4.35%	23
	Total	10	4.42%	69	30.53%	54	23.89%	43	19.03%	38	16.81%	12	5.31%	226
UCL SLASH	Faculty of Arts & Humanities			2	25.00%	3	37.50%	2	25.00%			1	12.50%	8
002 02 1011	Faculty of S&HS	9	7.83%	29	25.22%	44	38.26%	25	21.74%	7	6.09%	1	0.87%	115
	Total	9	7.32%	31	25.20%	47	38.21%	27	21.95%	7	5.69%	2	1.63%	123
Cohool of Life 9 Madical Colones													1	T
School of Life & Medical Sciences	Faculty of Brain Sciences	12	8.28%	61	42.07%	35	24.14%	21	14.48%	13	8.97%	3	2.07%	145
	Faculty of Life Sciences	12	9.60%	43	34.40%	30	24.00%	23	18.40%	10	8.00%	7	5.60%	125
	Faculty of Medical Sciences	26	18.06%	56	38.89%	36	25.00%	17	11.81%	5	3.47%	4	2.78%	144
	Faculty of Population Health Sciences	7	12.50%	29	51.79%	11	19.64%	5	8.93%	4	7.14%			56
	Total	57	12.13%	189	40.21%	112	23.83%	66	14.04%	32	6.81%	14	2.98%	470
School of Education	UCL Institute of Education	1	7.69%	4	30.77%	4	30.77%	2	15.38%	2	15.38%			13
	Total	1	7.69%	4	30.77%	4	30.77%	2	15.38%	2	15.38%			13
Vice-President (Operations)	Vice-President (Operations)	8	10.13%	30	37.97%	20	25.32%	15	18.99%	6	7.59%			79
Tiour resident (operations)	Total	8	10.13%	30	37.97%	20	25.32%	15	18.99%	6	7.59%			79
Bureldont and Bureld	Mar Bound (Familia)			0	F0.000/		50.000/				1	1	1	6
President and Provost	Vice-Provost (Faculties)			3	50.00%	3	50.00%							
	Vice-Provost (Research, Innovation and Global Engagement)					2	100.00%							2
	Total			3	37.50%	5	62.50%							8
	ALL UCL	85	9.25%	326	35.47%	242	26.33%	153	16.65%	85	9.25%	28	3.05%	919

7